R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, TX-4209

PROUT, I N C.

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
Infemational Residential Code {IRC), Sections R301 & R4613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2, When used in areas requiring wind-borme debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rafing shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 typical elevations, design pressures & general notes
Astragal details (Ultimate Multi-point)
Astragal details [Ulfimate Huricane}
Boor panel details {lip ite insert glozing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

SNEOs || Bl | N

74.44" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT {INSWING])

97.125" MAX. O.A. FRAME HEIGHT [QUTSWING)

XX

INSWING

+30.0

-35.0

+40.0

-45.0

Lyndon F. Schmidt, P.E
TEXAS P.E. $#104123

BUILDING CONSULTANTS, INC.

Documents Prepared By

P.Q. Box 230 Valrico Fl. 33595

Phone No.; B13.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

PART OR ASSEMBLY:

TYPICAL ELEVATION, DESIGN
FRESSURES & GENERAL NOTES

BY

REVISIONS

NOJ| DATE

oate: 8/08/12

OUTSWING

+45.0

-45.0

+40.0

-40.0

SCALE:

N.T.S,

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4209

SHEET _ 1 _ofF _7

© 2012 R.W. BUILDING CONSULTANTE ING.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 2-2

Upper Bolt Sleeve - Aluminum

Latch Actuator
Steel

N

e
I L R

2 —

—-m‘ﬁ‘“

Aluminum Body

i
o
"

S\

Lower Bolt Sleeve - Aluminum

(2#HB X 1-1/2"
> PFH WOOD SCREWS

Lower Lotch - Reinf Resin

(2}#6-32 X 5/8" MACHINE SCREWS

(4)48 X 3" PFH WOOD SCREWS

o
<

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

B813.659.9197

— 33.75"
48.0"
s20" -
60.0"
a. —~ 83.0° -
QI - 76.0 -
93.75"
ANCHOR SCREW LOCATIONS
Upper Latch Lower Latch
=
e 1.75"
7.5 26.0" ——eaed

Upper/Lower Bolf Actuator Lever - Zinc

{2)#8 X 1-1/2" PFH WOOD SCREWS

ULTIMATE MULTI-POINT ASTRAGAL

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

HARDWARE LOCATIONS

35.5" LATCH

41" DEADBOLT

mam— .7

265"

0.063" —»
£

Ot

Astragal Section

BOTTOM

7.5"

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairico FL. 33595

Documents Prepared By:
WFhone No.:
TEXAS BOARD OF PROFESSIONAL, ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

REVISIONS

NQJ] DATE

DATE: 8/08/12

SCALE:  N.T.S,

DWG. By: JK

CHK, &Y: LFS

DRAWING NO.:
TX—4209

SHEET 2 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 3-2

PUNCH OUT _\ 355 —
2.75“ e 2 . .\ . g 2_50"
3.75" - 8 8 8 3.43"
10.75" —|= 10.50"
SR A S — - 18.50" -
26.75" - 26.50"
N ANCHOR SCREW LOCATIONS z
8| 5
(-]
= o= E @ cm—eT O E f -
< 5.5" — !- 35.5"
< 8'-0" ALUMINUM ASTRAGAL ASSEMBLY
By Endura Products
BOLT RETAINERS
e — | j ALUMINUM ASTRAGAL
" - L | SLIDE BOLT ROD
SLIDE BOLT ROD VIEW A-A
MATL: Steel Aluminum Astragal Assembly
DEADBOLT STRIKE ;
— PF
PLATE #8 X 3/4" PFH WS
i 3
3 o 1
o~ r———-—'»l 63 #8 X 3" PFH WS
f LATCH STRIKE PLATE
1.75"
BOLT RETAINER
KLTMATE HURRICANE ASTRAGAL MATL: 9-374" Aluminum LATCH AND DEADBOLT DETAIL

Lyndon F. Schmidt, P.E.
TEXAS P.E. $104123

P.O. Box 230 Vairico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
ASTRAGAL DETAILS

PART OR ASSEMBLY:
(ULTIMATE HURRICANE)

PRODUCT:

BY

REVISIONS

NO.| DATE

DATE: 8/08/12

SCALE:  N.T.5,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO-:
TX—4209

SHEET 3 oF _/

© zopEe R.W. BUILDING CONBULTANTS ING.



—= 1L

INTERIOR

)/

B—

ORI
¥/ -

==)

B/

[

e 2.8 ] 124" |-

Y

24" LONG
LOCK BLOCK ?SSESDS ILE
(WOOD)

/"1 "\ HORIZONTAL CROSS SECTION

95.25" MAX. DOOR

R:VA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 4-2

HINGE STILE
{(WQQD)
36.0" MAX.
PANEL WIDTH
21.0" MAX o
D.L.O. WIDTH 3
4

==
T =<z

Q
2 3o .
I = . —
g 9 Y X
z N
< fa)
fa B

b
THERMA-TRU
Insert glazed
{steel]

#6 X 1-1/2" PH SMS

GLASS BITE 7/14"
INTERIOR
7 1/2" NOMINAL GEASS THK,

1/8" TEMPERED GLASS
: 4 AIR SPACE

R

/i

1/8" TEMPERED GLASS

STEEL SPACER
EXTERICR QSO SEALANT

LOW TACK SEALANT

GLAZING DETAIL
Lip Life Insert Glazing

TOP RAIL
(COMP.)

FOAM CORE e
{POLYURETHAI\ﬁ '

INTERIOR

BOTTOM RAIL
{COMP.)

0.94"

CERTIFICATE OF REGISTRATION # F—11852

"

]

g 0

o 5

Ex 3

£ a ul

[ . 8 £

Mu On (<]

& £ 3

b e

cg Eg

] o

v ol 5

€ STt 2

> S ge 0

Ry o9
2 5
2.a

3 om° 9

a OND, r

] 98% o

£ §°%2 °

o =gt 2

e D'f %

& M a S
S

]

j.]

[=

o

E g

3 \Qb-})

b

o

o

EXTERICR

ENDURA
PART OR ASSEMBLY:
DOOR_PANEL DETAILS
(LP LITE INSERT GLAZING)

PRODUCT:

BY

—er
D70 EEEE T d AT )

24 Ga. STEEL SKIN \; R

0.94"

NOJ DATE

baTE: 8/08,/12

SGALE:  N.T.S,

/"2 "\ VERTICAL CROSS SECTION
)

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4203

SHEET 4 oF 7

REVISIONS

€ 2012 R.W. BUILDING CONBULTANTS INC.




R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 5-2

ul
O
P 0
£E2 g u3
s g> 8 Zc
A9 gR 8
P |
$3 £s2 1z
|l £ <2R 908
b/ / 3 3g@ 8k
V / g 2 BE
Vi V4 5 B8R 88
/ / O % -3 £ ™ =
hd Zme Of
3 9.5 4
Y 50 g p
| | : X i
! 2 I
5 E
e X B
&
l
2
(2 25
G5/ < [~ DEADBOLT: KWIKSET SIGNATURE SERIES | Zh
, O —p | (980/985) g g 5,
] L
= / i / T ————— LATCH: KWIKSET SIGNATURE SERIES i %§
/ | /7 (591) A
I P / | g e
1/4" MAX. , 8 i
SHIM SPACE o c?'é]nik & £
EXT. SHEATHING CORNER PADS (TYP.
(TYP.) L (TYP P
2X FRAMING e |~ #10X2.5" PFH WOOD SCREW O O
(G >=0.42) —\
[52]
ULTIMATE MULTI-POINT ASTRAGAL Z
L AMB NDURA WEATHERSTRIP ULTIMATE HURRICANE ASTRAGAL %
(QEBD 650} g
ENDURA WEATHERSTRIP . DOOR PANEL
INTERIOR (QEBD/PE 650] /'
S \
RN ’X g =
S/ EXTERIOR k 5
DRYWALL S : 3
#8 X 2.5 PFH WOOD SCREW #8 X 1" PFH SMS #8 X 3" PFH WS ==
5 e “ paTE: 8,/08,/12
#8 X 3/4" PFH SMS 4 HINGE #8 X 1"PFH WS scae:  N.T.S,
m DWG. BY: JK
/ 1"\ HORIZONTAL CROSS SECTION 2 \HORIZONTAL CROSS SECTION o s LFS
\y Inswing shown - Outswing also approved 5 DRAWING NO.:
TX—-4209
SHEET _ 5 oF 7

© 2012 RW. BuUlLDING DONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 6-2

DOOR PANEL
ENDURA WEATHERSTRIP _\

{QEBD/PE 650)

ENDURA THRESHOLD

(Z-SERIES OUTSWING )
INTERIOR

2X FRAMING
(G >=0.42)
—— ]
EXT. SHEATHING \ il -'5-_': /— DRYWALL
il L wiox2.5 PR
1 // WOOD SCREW
1/4" MAX. 1 s
SHIM SPACE \ LA o v
ih Z ol
Ty -
=] b |l
DOOR PANEL -\// *
/ L HEAD
ENDURA WEATHERSTRIP
(QEBD/PE 650)
EXTERIOR W INTERIOR
71"\ VERTICAL CROSS SECTION EXTERIOR
\U Outswing shown - inswing
dlso approved
DOOR PANEL
ENDURA DOOR SWEEP
{DBK-R)
ENDURA THRESHOLD

EXTERIOR

~obvirbrbvishrbrivied
SOLALALALALALASALAL LYY

/"2 "\ VERTICAL CROSS SECTION

W Outswing shown

AL AL LA

#10 X 2.5" PFH WOOD SCREW

1/4"X 2-3/4"ELCO OR
TW CONCRETE SCREW

(Z-SERIES INSWING}

RN

M

/3 \ VERTICAL CROSS SECTION

w Inswing configuration

i
4,
A Y . a
Pt | .2
. -i.i‘fzfm ~ |23 2o
: 2l & |ER 3 U8
N b E . (;j\ -5 : g =z
Y 10 m o B ny ¢ oT
.l bziail G@Wgl fod 27 gd
oyl BN (e god ge
Gon 7 izi2 FSEA 18R 58.5 32
TE.,  iRD AN 5T 538 g8
G, 121 S =%
\83,}" ':h":*:,b" ;‘_..x ST 2o 5 o
{21 wig e ?\;‘H'w g & " 86
psios™ L) ONE aw
T Q5% u
e £m, O
]
a = -
g 50¢ gl-'_-'
a m o b, g
2 g .
& &
H @ i
3 go
[1]
I
2
e
S
]
(7]
& 0
a2 |38
=z o x
i = O
]
o 2
qe
o
2 S| &
INTERIOR a e =
£ S
&
\ ’
=
]
n
|
i
Ll
#10 X 2.5" PFH WOOD SCREW g
1/4" X 2-3/4" ELCO OR ‘
ITW CONCRETE SCREW %
baE: 8/08/12
SCALlE:  N.T.S.
DWG. BY: JK
CHK. &Y: LFS
DRAWING NO.:
TX—4209

SHEET 6 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 170(0\PF 1675\D. RWBC Drawings\TX-4208-1 l.dwg, 7-2

TOP OF

5.22" FROM
DOOR PANEL

T SEE HINGE
RN

3 Y

——-l—-u-—
oM
Cacst

30.72" e

56.22"

p.rr

B1.72"

Al SEE HINGE
H DETAIL 2

HINGE JAMB

FLOOR SUBSTRATE MATERIAL [TYP.)
CONCRETE {MIN. 3000 PSi)
WOOD (G >= 0.42)

CONCRETE ANCHOR NOTES:

2X framing {by others)

s G

6"

rd

(P : r ¢ T |'" (TYP.)
=~ ) |
A I ] |

#10 X 2.5" PFH
WOOD SCREW
(TYP. @ HEAD
AND JAMBS)

DETAIL 1

\ — DETAIL2

4£P) ——| =

FP)—1 = pyey
¢

FRAME ANCHORING
XX

#10 X 2.5" PFH WOOD SCREW
174" X 2-3/4" ELCO OR

=‘:NOTE: This anchor required for D.P. > 40 PSF.

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrefe anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

mw

TAPCON® | /4 1-3/4 2. 3
E[CO L ” n L}
ULTRACON®| /4 1-3/4 ! 3

ITW CONCRETE SCREW

(TYP @ SILL)
] _/ #8X 2-1/2° PFHWS

e

#8 X 1"PFH WS ol

X 2, == #8 X 3/4" PFH WS
—— 4"X 4" HINGE
h\

HINGE DETAIL 1

Astragal Strike Plate
@ Head Jamb

e fel .
AN

N\
#10 X 2.5" PFH WOOD SCREW

h\

DETAIL 1
3/8" DIA.\HOLE
~ \ b
1S
DETAIL 2
L S P
|- #8X2-1/2" PFH WS
S
o |
M ,. : .‘
#8 X 1"PFH wség_. i éEa-\, #8 X 3/4" PEH WS
i " "
— 4" X 4" HINGE
N

HINGE DETAIL 2

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123
P.O. Box 230 Valrico Fi. 33585
B13.659.9187

BUILDING CONSULTANTS, INC,

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oate: 8,/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4208

SHEET 7 oF 7

€ 2012 R.W. BUILDING CONSULTANTS INC.



